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6M007 Pupil Tasks

Master Powers of 10 More and Less (7 digits)

Fluency 1
()}
Complete the stem sentences. 5
o
o
1,000,000 | 2,000,000 | 3,000,000 | 4,000,000 | 5,000,000 6,@00 7,000,000 8,000000 | 9,000000 1,000,000 | 2,000,000 3,000,000 | 4,000,000 | 5,000,000 | 6,000,000 | 7,000,000 8,@30 9,000000 ﬁ
g
100,000 Z(CDO 300,000]400,000[500,000{600,000}700,000{800,000|900,000 100,000(200,000{300,000]400,000(/500,000 6@)0 700,000}800,000]900,000 % .
O €
9.9
10,000{20,000{30,000 40,000 [50,000|60,000|70,000{80,000 {9 »0 10,000{20,000{3(_10[40,000[50,000|60,000{70,000{80,000{90,000 £8
c s
O
1,000 | 2,000 | 3( 0 | 4000 | 5000 | 6,000 | 7,000 | 8,000 | 9,000 1,000 | 2,000 | 3,000 | 4,000 | 5000 | 6,000 | 7,000 | 8,000 | 9,000 g =
g 3
100 | 200 | 300 | £ | 500 | 600 | 700 | 800 | 900 100 | 200 | 300 | 400 | 500 [ ) | 700 | 800 | 900 » ©
5E
- §
10 | 20 | 30 | 4 [ 50 |6 | 70| C | 9 0 [ 20 | 30 | 40 | 50 | 60 | 70 | 80 [ 90 g3
c
(e 3o}
1 2 3 4 5 6 | C | e 9 1 2 3 4 | ] s 7 8 9 g2
c 3

1 more than 6,293,487 is

10 more than 6,293,487 is

100 more than 6,293,487 is

1,000 more than 6,293,487 is
10,000 more than 6,293,487 is
100,000 more than 6,293,487 is
1,000,000 more than 6,293,487 is

1 less than 8,630,605 is

10 less than 8,630,605 is

100 less than 8,630,605 is

1,000 less than 8,630,605 is
10,000 less than 8,630,605 is
100,000 less than 8,630,605 is
1,000,000 less than 8,630,605 is
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6M007 Pupil Tasks Plan couk

Master Powers of 10 More and Less (7 digits)

Fluency 2

Complete the stem sentences.

1,000,000 | 2,000,000 3,0 00]4,000,000]5,000,000 | 6,000,000} 7,000,000 8000000 | 9,000000 1,000,000 2,000,000 3,000,000 {4,000,000(5,000,000]6,000,000]|7,000,000] 8000000 |9, 00 g
(7]
100,000{200,000{300,000[400,000{500,000[600,000|70"  00|800,000|900,000 100,000{200,000[30" 0[400,000{500,000[600,000[700,000[800,000|900,000 §
(/2]
10,000 |20 )0|30,000|40,000|50,000|60,000|70,000{80,000{90,000 10,000 20,000|30,000(40,000|5C )0|60,000{70,000{80,000{90,000 2
i -
o .
10 0 | 2,000 | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000 1,000 | 2,000 | 3,000 | 40 0 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000 g S
T2
100 | 200 | 300 | 400 | 500 | 600 | 700 | soo0 | 900 100 | 200 | 300 | 400 | 500 | 600 | 700 | € ) | 900 = S
Q Q0
10 20 30 50 60 70 80 90 10 30 40 50 60 70 80 90 $ §
-
1 2 3 4 5 6 7 9 2 3 4 5 6 7 8 9 = £
(0]
£ o
10,000 more than is 100 less than is 63
i
c 3
1,0 002,000,000 3,000,000 ]4,000,000]5,000,000]6,000,000] 7,000,000 | 8000000 | 9,000000 1,000,000 | 2,000,000 | 3,000,000 | 4,000,000 (5,000,000 | 6,000,000 7,0 00| 8,000000 | 9,000000
100,000(200,000}300,000(40.  DO}500,000(600,000}700,000]800,000(900,000 100,000(200,000]300,000(400,000}500,000(600,000{700,000]80C.  DOJ900,000
10,000 [20,000(30,000(40,000(50,000(60,000]7C )0]80,000/90,000 10,000 20,000|30,000(40,000|50,000|6C )0{70,000{80,000{90,000
1,000 | 2,000 | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 90 0 1,000 | 20 0o | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000
100 | 1 300 | 400 | 500 | 600 | 700 | 800 | 900 100 | 200 | 1 400 | 500 | 600 | 700 | 800 | 900
10 20 30 40 60 70 80 90 10 20 30 40 50 60 80 90
1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 9
1,000,000 more than is 1less than is
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6M0O7 Pupil Tasks Plan

Master Powers of 10 More and Less (7 digits)

Fluency 3 Fluency 4
Complete the stem sentences. Fill in the missing nhumbers. o
O
[72]
1,000,000s | 100,000s 10,000s 1,000s 100s 10s 1s 100’000 less 100,000 more g
>
()]
4 ! 8 > > 6 4 8,722,618 =
[C
1,000 more than 4,185,564 is § .§
T2
100 less 100 more 5 9
1,000,000s [ 100,000s | 10,000s | 1,000s 100s 10s 1s £ 5
5,713,965 3z 0
2 3 2 4 7 9 6 5§
o 3
£ 9
10 more than 2,324,796 is 10 less 10 more £3
0w =
O O
1,680,324 c 3
1,000,000s [ 100,000s | 10,000s | 1,000s 100s 10s 1s
7 8 4 8 0 0 2 10,000 less 10,000 more
100,000 less than 9,848,002 is 6.917.853
1,000,000s [ 100,000s | 10,000s | 1,000s 100s 10s 1s
1less 1 more
1 5 8 1 1 1 3
7,914,039

1,000,000 less than 1,581,113 is
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6MO007 Pupil Tasks

Fluency 5

Complete the stem sentences.
6,568,542 is 1,000,000 more than
9,505,337 is 100 less than
2,847,291is 10,000 more than
3,436,470 is 100 more than

Fluency 6

Fill in the missing numbers and circle the correct words to
complete the stem sentences.

5,097,752 is more / less than 5,197,752
8,550,963 is more / less than 8,549,963
2,008,485 is more / less than 1,908,485
4,276,804 is more / less than 4,276,803
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Master Powers of 10 More and Less (7 digits)

Fluency 5

Complete the stem sentences.
6,368,542 is 1,000,000 more than
9,505,337 is 100 less than
2,847,291is 10,000 more than
3,436,470 is 100 more than

Fluency 6

Fill in the missing numbers and circle the correct words to
complete the stem sentences.

5,097,752 is more / less than 5,197,752
8,550,963 is more / less than 8,549,963
2,008,485 is more / less than 1,908,485
4,276,804 is more / less than 4,276,803
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